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NO. 5 19.800 0.3 0.35 6.9 0.00 0.0 0.1 0.10 2.0

NO. 5 + 1.500 1.500 0.1 0.20 0.3 0.00 0.0 0.2 0.15 0.2
(No.0-3.8~No.0fF3f)
t=30cmEEZEELEL I D
V=3.1m2 40.3m= 0.9

& 117.700 m 390 md 7.2 129 m?
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T = ZR2EE WLARAN ZK- AR ANLTE
A B
e T B R sEERER R SR AT LU N
UL E( 8 wUHE| UMM |GFEHE TEE KEHE| flow |EBIHE Bis|BRLMA | L= FE =
(m3) (m3) C (m3) (m3) (m3)
(1L =)
100 |EImE| I 4326 430 1
PRl gL 10.0 10 i
39.0
FExT Hh 2.5
RIE g L 39.0 40 E+ b 2.8
383.6
2.8
_ T# Hh 1.2
REET L+ 394. 4 390 HBR b 8.0
8.0 |EIER
BERE 12.9




B B H ¥ &

I & YEHRRFIE X R T
B A | hOTUrRE
AT s=1:100
(No. 34 3k)
B
YPY :
5
=

1250 1000, W

DHWL

ERXFEA

Wt B Lk 44

1.0BmrEY

Z W b3 " = Bf| #=
M Z % v b FEREAFt-300m | A=1.00X 1014 = m’ | 101.40
0% HH B 1k #4 A=1.00%101.4 = m? | 101.40
HEmEEIF A=1.00%101.4 = m? | 101.40




= =
B B O HE E
i EET
| BYREL
ey m_ #YBEHES L=16. 30m
Al_n Al A\_v 6100 10200 9995
= .
- - AYERARYEBL @) mm.m L) m%mH 5=1:50
s g g \Mﬁ
vV 29/ 696
Vv 26.599 Vv [27.599 vV 28. 465 v 27.505
[\L R
7
| DL=21.000
1.0BFfr &Y
& W OB g = HA| #2
Y\ EH t=20cm A1=1/2 X (2.00+2.40) X 1.077 X 6.10= 14.45
A2=1/2 X (2.40+2.70) X 1.077 X 10.20= 28.01
&Et m? | 42.46
B & I| BHEEH A1=1/2 % (2.00+2.40) X 1.077 X 6.10= 14.45
A2=1/2 X (2.40+2.70) X 1.077 X 10.20= 28.01
&Et #m?| 42.46




B E i #E
T fREXT
A |[REERs
FrE i (t=10cm) LA ER A
AR Al= 199.1
H#EAR 2 A2= 160. 1
EARE 3 A= 121.0
YRR AR Ad= 18.1
& it A= 558.3 m2
RETDS RS ERI= T A
RE - HE N= 12 {@
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b
L
I

B

T & [(BEYPRYELT
ZE Al BYREH
o BYURBEHFMYEU (TR
o L=3. 8m
Vv 29| 696
Vv 28.465 Vv 27.505
_K .
|.|I||\|I\Il|| i < o
_
DL=21. 000
0

H=1.2~2.1m

BUAREHEYIEL A=1/2x (1.20+2.70) x3.80 % 1.077-= 8.0 m2

AV )— b V=8.0x0. 2= 1.6 m2




T B |[#HEPRYRLI

B’ oAl HiRigmYikL-#EI8
ERE -8B L=11.9m
FEaga 4 1) —|k (t=10cm)
<6.60m2
1.0 -
= ey +13R1 — : . a \N
1000
P
N %3
-
RRERE - B8
hiEE+ A=0. 4m2
#=-1&I8
BYUGBREH A=(0.54+0.58) x11.9= 13.3 m2
hEE LR V=0.4x%x11.9= 4.8 m3
ka2 1) — b (t=10cm) ¥ A &R 6.6 m2
aVy)—kax FERYaVHY)—F  V=6.6x0.10= 0.7m3
waE V=13.3x0. 2= 2.7m3
BISAFvouyn (25+12) x0.02+(384/5.4/3.6) x0.( 0.11 t




e ¥ + I ¥ 5 5+ & 2 (R ERET)
ol = 5 o REEL ELHEmY-EL TR
Eom | & | T B w & |m@E| T8 w & |m@E| T8 5 B
(RZERT)
NO. O 0.0
NO. 0 + 1.300 1.250 12.0 6.00 75 1.2 11.8
NO. 0 + 5.000 3.700 55 8.75 324 0.7 0.95 3.5 6.7 9.25 34.2
NO. 0 + 17.900 13.000 1.9 3.70 481 0.5 0.60 7.8 5.0 5.85 76.1
NO. 1 + 0.500 2.600 11.2 6.55 17.0 0.9 0.70 1.8 8.8 6.90 17.9
NO. 2" + 19.100 38.600 0.9 6.05 233.5 04 0.65 25.1 43 6.55 252.8
NO. 2" + 19.700 0.600 0.0 045 0.3 04 0.40 0.2 43 4.30 26
(R )
NO. 1 + 19.000 0.0
NO. 2 + 9.100 10.000 40 2.00 20.0
NO. 2 + 13.000 3.900 40 4.00 15.6
NO. 3 + 3.100 10.000 0.0 2.00 20.0
& i 83.650 m 3944 3® 384 m° 383.6 m?




